24444424222 2222444442 4222222222222 22224844424

N'TIO'N NINODAN

150N 7w Nn7wn nimdn NX [non 40 19onn ,0'TNnn 40 nnna
NN D' TN7NN

100% annn n'T10'A NINdN

T NNAITY

2
D220 DN D'TINK N ,NNDN 'TNYN 1%0nn - D'Inn 0N
?NN'DA TN o0nn
: NS
100% = n'110' NI -nNDN TN '»

2
> yx11 1> oW 100% n - DN N> D ox awn)

2
< X100% = 40%

2
D 1171 D'TINKRY - Jawnnd>on T 7Y NNX 0Ta 02 2wn? 1710
P71 1002 ik 71907 wr 0TINKRYT 12w 1907 '

2 - 2X100°/—40°/
cT T 0= 0

:D'™7'an

% |N'02 DOID0N NKX D'IN0NI D'TINKN 190N NX D'ANN O'TINK 11A'NA

DY190n TINK N1 ,35% 2 N'*1901 0'ID0N 190N 772 NIYWN (WN .X
?MYN 9102 N"N1901

nNd ,1900n 29% nwin ninal 19001 37% NNX NIINA X'Y¥IN 0OTX .2
? NI'INN MY X'NIN 19001 D'TINK

? DN 1INX 1NN 52% XN AN'DA NN TINK A

244222222222 22 2222222222222 222222222 22222222222222222222222222228 22
1 2222 22 2 X2 2222222222 2222 X222 22222222 222222222222 X222 2 222X 22X 2 XX 2 X 2 2

24444422222 2222444442422 2222222222222 284844 424



24444424222 2222444442 4222222222222 22224844424

INWI N90D0N TINK NT'R ,N9001n 78% NiMp7 nxR'NIN NN My .1
? 07

N2y NMN7'w DTNk nnd 18% 7w nnina n'mwy nmig 11 Ny .a

?n'mwn

YXNX TY 112Y7 17 NN 0T n 0Nk nnd 07T 38% 1ay 0 L

? T
: 1awn
48% + 36% =
94% + 58% =
120% + 150% =
57.6% +2.4% =
70% - 36% =
80% -47% =
100% - 15% =
70% - 51.6% =
NP 29V

2442222222222 2222222222222 2 222222222 22222222222222222222222222228 22
1 2222 222 X2 2222222222 2222 X222 22222222 2222 22222 222X 2 22 2 222X 22 X2 XX 2 X 2 2

24444424222 2222444424242 22222222 2222222424444



